A\
L e}

Mééﬁhh@:

4T

0

Description: Plate Load Arm Gurl

Magnum Fitness Systenms

53172 -—| Date: 7/18/99 . —.- Version:_1.

2201 2th Avenus

— South Milwaukse Wi.




Version: 1.0

ITEM QUANTITY PART NUMBER DESCRIPTION
A 14 850-004 Plastic Cap - 2" X 2"
B 2 850-010 Plastic Cap -1 72" x 2"
Cc 4 858-105 5" Rubber Boot
D 2 850-030 Free Weight End Cap
- E 10 813-312 — 5/16" -18 x 3" Hex Head Screw 0
F 26 818-105 5/16" Flat Washer
G 2 858-334 Rubber Grip
S — e H -6 - 850-012 ..—— 1"ID Black Vinyl End Cap - -~ —_—
| 10 819-316 1" External Snap Ring
J 8 819-128 1 1/64' ID x 1 %" OD Machine Bushing 18g.
K 4 850-006 2"x3" Plastic End Cap
L 4 851-506 1" 1D x 1 %" OD Ollite Flange Bushing
N 2 858-253 1 7/8" ID x 2 %" OD x %" Rubber Dohnut
o 4 810-806 1% 13 x 1 1&" Hex Head Screw
P 4 818-107 7/16" Flat Washer
Q 16 810-613 3/8" -16 x 3 1/4" Hex Head Screw
8 8 851-317 Piliow Block
T 16 818-351 7/16" 1D x 1 9/16" OD Machine Bushing
U 16 817-306 378" Nylon Insert Nut
v 4 T 817-609 %" -20 Nylon Insert Nut
X 4 817-850 1%"-20 Jam Nut
Y 4 855-152 Male Studded Rod End
Z 2 411-001 4" Connection Pipe
S AA — 1 858-402 ... R 15" RubberTip . - . — —
AB 1 816-404 1/4" -20 x 1" Socket Head Cap Screw
AC 1 839-706 Lever Lock Pin
AD 1 852-807 Spring Pin Spring
AE 1 411-002 Upholstery Upper Back
AF 1 411-003 Upholstery Right Arm Pad
AG A 444-004 sas——tpholstery-Left-Arm-Pad A4t A
AH 1 411-005 Upholstery Lower Back Pad
Al 1 411-006 Upholstery Seat Post -
AJ 1 - 838-792 Chrome Seat Post
AK 2 411-007 Counter Weight
AL 1 411-008 Weight Arm Assy. - Left Hand
AM 1 411-009 Lifting Arm Assy. - Left Hand
AN 1 411-010 Main Frame Assy.
AO 2 411-011 Handle Assy.
AP 8 850-048 %" Plastic Hex Cap
AQ 2 819-014 15" Machine Bushing
AR 10 850-049 5/16" Plastic Hex Cap
AS 32 850-050 3/8" Plastic Hex Cap
AT -1 411-012 Weight Arm Assy - Right Hand(Not Shown) e
AU 1 411-013 Weight Arm Assy - Right Hand(Not Shown)
e e AV e o 2 854-927 - e Red Caution Decal Con —
AW 2 838-250 Aluminum Grip Cap
AX 1 854-913 1 - 12 Sticker
AY 6 810-506 5/16-18 x 1 15" Hex Head Screw
- - AZ - 2T T "7 854-130 Biangular Sticker i
BA 2 854-901 __ Pivot Point Sticker ,
BB ) 1 854-002 Small_ Magnum Sticker

Magnum Fitness Systems

2201 12™ Avenue -
South Milwaukee, Wi 53172

- Phone (414) 764-4068 Fax (414) 768-7047




